
Multiply by 0.01 (F)Find each product.
7.99 × 0.01 = 9.3851 × 0.01 =
7.387 × 0.01 = 3.9309 × 0.01 =
7.53 × 0.01 = 5.4789 × 0.01 =
9.933 × 0.01 = 6.732 × 0.01 =
7.796 × 0.01 = 6.25 × 0.01 =
4.2 × 0.01 = 8.6 × 0.01 =
2.9148 × 0.01 = 0.016 × 0.01 =
2.3976 × 0.01 = 6.032 × 0.01 =
0.3595 × 0.01 = 4.61 × 0.01 =
2.687 × 0.01 = 3.532 × 0.01 =
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Multiply by 0.01 (F) AnswersFind each product.
7.99 × 0.01 = 0.0799 9.3851 × 0.01 = 0.093851
7.387 × 0.01 = 0.07387 3.9309 × 0.01 = 0.039309
7.53 × 0.01 = 0.0753 5.4789 × 0.01 = 0.054789
9.933 × 0.01 = 0.09933 6.732 × 0.01 = 0.06732
7.796 × 0.01 = 0.07796 6.25 × 0.01 = 0.0625
4.2 × 0.01 = 0.042 8.6 × 0.01 = 0.086
2.9148 × 0.01 = 0.029148 0.016 × 0.01 = 0.00016
2.3976 × 0.01 = 0.023976 6.032 × 0.01 = 0.06032
0.3595 × 0.01 = 0.003595 4.61 × 0.01 = 0.0461
2.687 × 0.01 = 0.02687 3.532 × 0.01 = 0.03532
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